1)
The four isotopes of lead are shown below, each with its percent by mass abundance and the composition of the nucleus. Using these data, calculate the approximate atomic mass of lead.

	
	# of protons
	# of neutrons
	Mass abundance

	a
	82p
	122n
	1.4%

	b
	82p
	124n
	24.1%

	c
	82p
	125n
	22.1%

	d
	82p
	126n
	52.4%


2) How can electrons in an atom move from one energy level to another?

3) The energies of electrons are said to be quantized. Explain what this means.

4) The lines at the ultraviolet end of the hydrogen spectrum are known as the Lyman series. Which electron transitions within the atom are responsible for these lines?
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5) Arrange the following in order of decreasing wavelength. 
a. infrared radiation from a heat lamp

b. dental X-rays

c. signal from a shortwave radio station

6) Who’s model of the atom closely resembles a planetary model?
7)Describe the model of the atom based on Rutherford’s gold foil experiment.

8) In which model are electrons in orbitals?
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9) Which wave has the longest wavelength?

10) Which wave has the highest energy?

11) The wave has the lowest frequency
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12) Which wave has the highest amplitude?

